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Question 1
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 (1 mark)

Question 2

The graph of 
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 is the graph of a parabola.

It will touch the x-axis just once if there is one solution to the equation 
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There is one solution when 
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Question 3
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(1 mark) for first two correct answers   

  (1 mark) for second two correct answers
Question 4

a. From the graph, we see that 
[image: image8.wmf](

)

0

=

a

f

. That is, when 
[image: image9.wmf]  

x

=

a

, the value of the function is zero. Another way of thinking of it is that the graph of the function passes through the point 
[image: image10.wmf](

)

0

,

a

.

(1 mark)
b. 
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c. The x-intercepts of the graph of 
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(1 mark)
d. Method 1 – using the discriminant for the quadratic function
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Since 
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Method 2 – otherwise

The graph of the function 
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 is an inverted parabola that has been translated 1 unit vertically upwards so that its turning point occurs at the point 
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e. From the graph, the gradient is greatest at 
[image: image22.wmf]  

x

=

-

a

 (or 
[image: image23.wmf]1

-

=

x

 since from part c. we know that 
[image: image24.wmf]1

=

a

).  The gradient decreases until at 
[image: image25.wmf]  

x

=

0

, the gradient is zero. Note we are looking at a restricted domain of 
[image: image26.wmf][

]

0

,

a

x

-

Î

.

For 
[image: image27.wmf]  

x

<

-

a

 the gradient would be greater than at 
[image: image28.wmf]  

x

=

-

a

.

(1 mark)

Question 5
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(1 mark) – correct shape including

asymptotic behaviour as 
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b. The function 
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Question 6

Method 1
Draw a probability table.

Let J represent the event of studying Japanese.

Let M represent the event of being male.

	
	M
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	J
	0.09
	0.03
	0.12
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b. 
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c. 
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d. 
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(1 mark) – where some attempt is 

made to use the addition rule

(1 mark) – correct answer
Method 2

Draw a Venn Diagram.

Let J represent the event of studying Japanese.

Let M represent the event of being male.
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(1 mark) – correct answer
Question 7
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(1 mark) – for correctly differentiating

the 
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 term and the constant term
(1 mark) – for correctly differentiating 
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 (1 mark) – for correctly antidifferentiating

the 
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Question 8
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                        (1 mark)

(Note: not all of the above steps need to be included – they are included here so that the simplification is made clear.)
Question 9

a. The graphs intersect when
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(1 mark)
Substitute these values into either 
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The points are 
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The points are 
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The greatest value of 
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So the greatest difference between the values of 
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Question 10

The graph of 
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     (1 mark)
Question 11


The particle is 2 metres from its origin of motion.

 (1 mark)
a. The average rate of change of displacement of the particle between 
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c. The instantaneous rate of change at 
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At 
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d. The particle is stationary when 
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From part c.
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The particle is stationary at 
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(Note, it is only momentarily stationary.)
Total 40 marks
�











(1 mark)























(1 mark)




















�











(1 mark)








�











�











(1 mark)





(1 mark)








� EMBED Equation.3  ���





(1 mark)





� EMBED Equation.3  ���





(1 mark)





(1 mark)








_____________________________________________________________________

©THE HEFFERNAN GROUP 2008 Maths Methods(CAS)Units 1 & 2 Trial Exam 1 solutions

_____________________________________________________________________

©THE HEFFERNAN GROUP 2008 Maths Methods(CAS)Units 1 & 2 Trial Exam 1 solutions


_1275487158.unknown

_1275487490.unknown

_1275487961.unknown

_1275576393.unknown

_1278757739.unknown

_1278757766.unknown

_1278763086.unknown

_1278764448.unknown

_1278764778.unknown

_1278764414.unknown

_1278757783.unknown

_1278757753.unknown

_1275576681.unknown

_1278753887.unknown

_1278753918.unknown

_1275576706.unknown

_1275576839.unknown

_1275576610.unknown

_1275576627.unknown

_1275576600.unknown

_1275576352.unknown

_1275576371.unknown

_1275576339.unknown

_1275487520.unknown

_1275487543.unknown

_1275487607.unknown

_1275487625.unknown

_1275487632.unknown

_1275487639.unknown

_1275487618.unknown

_1275487547.unknown

_1275487604.unknown

_1275487534.unknown

_1275487537.unknown

_1275487523.unknown

_1275487496.unknown

_1275487503.unknown

_1275487514.unknown

_1275487493.unknown

_1275487285.unknown

_1275487401.unknown

_1275487452.unknown

_1275487487.unknown

_1275487439.unknown

_1275487367.unknown

_1275487377.unknown

_1275487357.unknown

_1275487177.unknown

_1275487190.unknown

_1275487281.unknown

_1275487180.unknown

_1275487164.unknown

_1275487174.unknown

_1275487161.unknown

_1140435706.unknown

_1140437200.unknown

_1275486934.unknown

_1275487148.unknown

_1275487155.unknown

_1275486947.unknown

_1140439052.unknown

_1140439787.unknown

_1140440208.unknown

_1275486638.unknown

_1140440554.unknown

_1140440165.unknown

_1140439294.unknown

_1140439483.unknown

_1140439172.unknown

_1140437520.unknown

_1140439015.unknown

_1140437502.unknown

_1140436090.unknown

_1140436483.unknown

_1140437128.unknown

_1140436096.unknown

_1140435967.unknown

_1140436059.unknown

_1140435805.unknown

_1140434630.unknown

_1140435491.unknown

_1140435687.unknown

_1140435035.unknown

_1140434418.unknown

_1140434444.unknown

_1140434372.unknown

